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1. Choose the correct option : 1x8=8

(a) Redtapism’ is a characteristic of public
administration / private administration /
corporate administration.

(b) Indian Institute of Public
Administration was formed in the year
1951 / 1952 / 1953 / 1954,
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(2)

(¢ The word ‘budget’ was first used in
England / America / France.

(d) The ‘ombudsman’ was established in
Sweden in the year 1809 / 1819 / 1829.

(e) “Hierarchy is a scalar process.” This
statement was made by Dimock /
Reiley / L. D. White / P. H. Appleby.

(/) Damodar Valley Corporation is the first

public corporation formed in India after
Independence.
( True / False )

(9) The Railway Budget in India was
separated from the General Budget in
the year 1947 / 1950 (1937 /51921

(h) Article 315 / 325 / 335 / 345 of the
Indian Constitution states that there

shall be a Public Service Commission
for each State.

2. Write on the following within 150 words
each : 4x4=10
(@) Four characteristics of Government

Corporation
(b) Committed Bureaucracy
(c) Comptroller and Auditor General (CAG)
(d) Four advantages of Auxiliary Agency
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(3)

Answer the following questions within 500 words
each :

3. Discuss the nature and scope of public
administration in the light of the new

developments in the discipline. 4+8=12
Or
Discuss the importance of the study of New
Public Administration. 12
4. What is organization? Discuss the bases of
organization. 4+7=11
Or

What is scalar process? Discuss the merits
and demerits of the scalar process. 3+4+4=11

5. What is promotion? What are the essentials
of a sound promotion system? 4+7=11
Or

Discuss the various elements responsible for
the development of the morale in public
service. 4+7=11

6. What is audit? Discuss the importance of
audit in public administration. 4+7=11

Or
Discuss the composition and function of

pPublic Accounts Committee, 4+7=11
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(4}

7. Mention the modes of people’s participation
in administration and write its importance.

7+4=11
Or
Discuss the main features of Lok Pal Bill,
2011. 11
* & X
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